
Y6 – Autumn – Block 1 – Step 2 – Compare and order any numbers Answers

Question Answer

1

10,023 is bigger than 7,543 because it has 10 thousand which is more 7 thousand.

Multiple answers e.g. move one counter from the tens of thousands column in the left hand 
place value grid, to the tens of thousands column in the right hand place value grid making 
the second number 17,543

2

a) 2,335 < 11,211
b) 12,335 > 11,211
c) 100, 000 > 10,000

3

a) <
b) >
c) <
d) >
e) >
f) =

4

a) 0
b) 9
c) 0

5 Seine, Grande, Fraser, Congo, Amazon

6 £329,700, £275,000,  £270,500  £257,905

7
a) 3,090, 3,799,  3,900,  4,003,  4,300
b) 7,000,666,  7,006,000,  7,600,700,  7,606,700

8
a) 328,000,  325,960,  325,906,  33,000
b) 2,000,000,  600,000,  half a million,  25,000

9
Any six numbers greater than 542,900 and less than 547,000 placed in the correct 
ascending order. 


